KEA—5—RBAFEH CLED)

& o Tk b HEfz|
1 |[EHIT AT m3 | 7,910
2 |2v))-MEHov L ANT1 3emZEHZ6emllF| m2 | 11,159
3 (M0 LT %%?f%%ﬁéiﬁh m3 | 44,504
4 |HEmm 0 ELT ﬁ%ﬁf%&ﬁgiﬁh m3 | 74,491
5 [HET NV iz m3 | 9,334
6 |HET AN 3 | 18,004
7 e T M) n3 | 64,452
8 |HWiHAMMET (MT)  |30kgW &R 13,199
9 BB T (ER )1 ;E;;g?%;iyyéy7obﬁy72t 3 | 18, 968
10 |FeBALsy T (B a7 )-h) ﬁggéhfwwwMt m3 | 19,294
11 | T ﬁgg%hfwwwnt m3 | 19,614
13 |BE7"7 AT v 7 FHAL )y LG5 m3 | 14,487
14 [JEHE 7SI t | 11,007
15 [k JE FE R H] FfA]| 1,011
16 KB A—# —E T 613 | 5,075
17 | kil A — & — BT 6 20 AET| 5,775
18 KA —# —E T $ 25 T 7,788
19 [KEA—Z—ET ¢ 30 2T 9,844
20 | A A — % —HUEET 6 40 AET| 11,857
21 |Gl A — % —HUiE T 6 50 27| 14,016
22 |Gl A — % —HuUEE T 75 AET| 17,226
23 |Gl A — % —HUEE T 6 100 AET| 37,076
24 |Gl A — % —HUEET. 6 150 AoF7| 48, 134
25 |G A — % — U T 6 200 AET| 59, 192
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KEA—S—EMEBRZEE (L&) e S)=2RiTE )

&5 T ki HEfz|
26 |/KiE A —H —HUE T ¢ 13 (&) MET| 7,613
27 KA — 4 —HUE T ¢ 20 (F&[H) FT| 8,662
28 |/KiE A —& —HUE T ¢ 25 (F&[H) 2 ET| 11,681
29 |KiEA—# —HUE T ¢ 30 (F&[H) 2 ET| 14, 762
30 |KiE A — & —HUE T ¢ 40 (F&[H) MET| 17,775
31 KA —H —HUE T ¢ 50 (F&[H) 2ET| 21,023
32 KiEA—H —HUE T ¢ 75 (F&[H) 2 ET| 25, 839
33 KA —& —HUE L ¢ 100 (F&[H) 2 HT| 55,614
34 |KEA—H —HUE T ¢ 150 (&) MET| 72,201
35 |KiE A — & —HUE T ¢ 200 (F&[H) P FT| 88, 787
36 |KEA—H—fET o 13 (PAtR7 70 &EZ) | 2| 2, 712
37 KEA—H—fET 620 (PAtR7 70 &xiE&) | AT 3,061
38 |KEA—H—fET 625 (PAR7 70 &iEE) | | 4,068
39 |KiEA—H —fET ¢ 30 2ET| 5,075
40 |KIEA —H —fET ¢ 40 2ET| 6,082
41 [KIEA —H —fET ¢ 50 MET| 7,333
42 |KIEA —H% —fET 675 2ET| 8,938
43 | A —% —fET ¢ 100 AT 18,863
44 |KE A —Z —fET ¢ 150 IAT| 24, 067
45 KA —% —fET ¢ 200 MAr| 29,921
46 R v PRAT T 613 m 511
47 (R v PRAT T ¢ 20 m 606
48 R AL =V PRl T ¢ 25 m 606
49 (R v PRfT T ¢ 30 m 703
50 |REEHEALE = PEAT T ¢ 40 m 703




KEA—5—EEZEEHE (L)
&5 o ki HEfz|
51 |MHE ML V&Rl T ¢ 50 m 894
52 /N EERAE R AT T ¢ 50 m L, 171
53 |/IN R BT T ¢ 50 2T 1,026
54 PNABHE R LYY T ¢ 50 AT 3,349
55 /N ERAE kR T R CIARFES ¢ 50 H 1, 139
56 |& VrFL e HRAT T 613 m 511
57 |& VxF v HRfT T ¢ 20 m 606
58 |# VrFL A HEAT T 625 m 606
59 |# VrFL A HRAT T ¢ 30 m 703
60 | )xFviEHEst T ¢ 40 m 703
61 | )xFuiaHast T ¢ 50 m 894
62 [t =V T ¢ 13 ] 656
63 |t =V T ¢ 20 ] 656
64 |t Vg T ¢ 25 ] 656
65 |t =V T ¢ 30 ] 656
66 |t =V T ¢ 40 ] 656
67 [ =VERETF T TSHETF 613 M 327
68 [t =VEHETF T TSHETF ¢ 20 M 656
69 [t =VEHETF T TSHETF ¢ 25 5 656
70 |tToVERET T TSHET ¢ 30 5 985
71 |t VERET T TSHET ¢ 40 5 985
(PRSI =25i] ¢ 13 = 656
(R LS5 ¢ 20 = 656
RISV =25i] ¢ 25 = 656
(R LSV =25i] ¢ 30 = 656
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KEA—S—RBEZEEH L8
& o Tk b HEfz|
76 |RVIFL A T ¢ 40 = 656
77 |R VIFv AT ¢ 50 = 656
78 K VxFvv A T T ¢ 13 M 656
79 % VxFvyE T T ¢ 20 M 1,312
80 & IzFLvE FMkT T ¢ 25 M 1,313
81 & I=F v FMkT T ¢ 30 M 1,970
82 & IzF v E FMkT T ¢ 40 M 1,970
83 & IzFv v HMkT T ¢ 50 M 2, 626
84 |2tV K O=y7" Wik T 613 AT 718
85 |a=Av K O=y7" Wik T ¢ 20 2T 753
86 |2tV K O=y7" Wik T 625 AT 823
87 |2=Av K O=y7" Wik F T ¢ 30 AT 892
88 |x=Av K U=y 7" Wik T ¢ 40 23| 1,149
89 |1k kAR HUE T 613 23T 1,356
90 |1k KAREUE T ¢ 20 3T 1,705
91 |1k KAREUE T ® 25 3T 2,056
92 |1k kAR EUE T ¢ 30 2T 2,754
93 |1k KA EUE T ¢ 40 T 3,061
94 (1 KAREUE T ¢ 50 DT 3,412
95 |1k/kAg b EE T 613 ET| 997
96 |1k7kAg b ECE T ¢ 20 23T 1,099
97 |dbskAg B T ® 25 2T 1,260
98 |k BRavkiE T ¢ 13 ET| 1,191
99 |k BRavakiE T ¢ 20 FT| 1,689
100 Wk #avExiE T $ 25 DET| 2,340
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KEA—5—RBAFEH CLED)

&5 o ki HEfz|
101 |IBrkERavEkiE L ¢ 30 2T 2,990
102 |IBrkgRavEkiE L ¢ 40 DT 3,641
103 |IBrkERavEk & L ¢ 50 2T 4,291
104 |79 #kF T 7.5K ¢65LLTF 0| 3,284
105|799 #kF T 7.5K ¢ 75 (80) 0| 3,940
106 |79 #kF T 7.5K ¢ 100 0| 3,940
107 |79 #kF T 7.5K ¢ 150 0| 4,598
108 [HEAKERE vIARE - BRET |0 25 FH 2T 2, 780
109 |FEK SR T DT 3,535
110 [AET T 3,116
111 | T e PFT| 34, 624
112 @ A — & —HEUE T 2FT| 3,535
113 |A2797" %t t |-153,970
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KEA—S—EMEBRZEE (L&) e S)=2RiTE )

& o Tk b HEfz|
114 [}=4N vky o 13 & 46
115 [}=4n vky ¢ 20 & 58
116 [}=4n v¥v ¢ 25 1# 69
117 [}=N vky ¢ 30 1 104
118 (=N vkv ¢ 40 1 127
119 |A=hn" %y AT 50 JE3cm i 1,188
120 [A=41" v%y  WifT $50 J=1.5cm e 1,202
121 |A=hn" %y WA 75 JE3cm i 1, 405
122 |41 v%y WfT »75 JE1.5cm e 1, 420
123 |A=hn" %y WA ¢ 100 JE3cm i 1,478
124 |51 v%y WifT ¢ 100 JE1.5cm e 1, 492
125 |A=hn" %y WAT ¢ 150 JE3cm i 1,941
126 [A=41" v¥y  WifT ¢ 150 JE1.5cm e 1, 956
127 |F=hn" %y WA $200 JE3cm i 2, 434
128 [1=hn" w¥y AT $ 200 J=1.5cm b5'e 2, 448
129 |RFJEH AFy b ¢ 50 758 246
130 |RFJEH Ay b 675 758 255
131 |RFJED Ay b ¢ 100 i 267
132 |RFIED" Ay b ¢ 150 i 420
133 |RFJED AFy b ¢ 200 758 662
134 (GFIEN AFy b5 ® 75 e 632
135 |GFIEN Ary b5 $ 100 e 823
136 |GFIEN Ary M5 ¢ 150 e 1,110
137 [GFIEN Ary M5 ¢ 200 e 1, 397
138 |3k FAfn %y ¢ 13 & 799




KEA—5—BEZEEHE (L8
&5 T ki HEfz|
139 |1k Fpfn vEv $ 20 1 979
140 [ 1k FpAhn vEy ¢ 25 & 1,535
141 |1k FpfEn vEy $ 30 1 3,115
142 |1k Fp AN vty é 40 1 4, 085
143 | A=4787" 4= (J-8) ¢ 13 N yF/AT 1 1,147
144 |A=3757" b= (J-3) ¢ 20 N yE/AT (! 1,593
145 [A=3787" 4= (J-H) ¢ 25 N ¥ AF i 2,535
146 |HIVP ¢ 13 m 158
147 |HIVP ¢ 20 m 274
148 |HIVP ¢ 25 m 394
149 |HIVP ¢ 30 m 478
150 |HIVP ¢ 40 m 684
151 |HIVP ¢ 50 m 966
152 |%° VxFL/ 5% 613 (ZJE% 17%) m 125
153 |&° VzFv/& 620 (B 1ff) m 183
154 & VxFLv/E 625 (ZJB% 15H) m 287
155 |&° VxFL /4% 630 (% 17%) m 404
156 |&° VzFL/& 640 (T JBE 1ff) m 536
157 |&° VzFv/& ¢ b0 (B 1ff) m 827
158 |VLP ¢ 50 (SGP-VA) m 2,724
159 |[EfG KFE A b VT 13 FFEa v i 4, 665
160 |[ERG KRR Ay b VAT $20 JFEa i 7,374
161 |[EGRG KRR A b VT $25 JFEa i 10, 575
162 |HEIEAKRE X $13 &2 vk i 3,506
163 |HEKkie -3 20 JFEa 3 & 6, 041
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&5 mooRl otk ik HEfz|
164 |H AR $-2K ¢ 25 JEE2 7 G 8,185
165 | Ak %2 $30 JFEa vk i | 18,253
166 |HI Ak -2 $40 JFEa vk i | 23,614
167 | &S5 50 L ] 67, 799
168 [FHIN A UG ¢ 50 B | 27,090
169 [HI k7Kg=t ry b ¢ 13 N vk AF 1E 985
170 [HI 1E7K#&2=4Y )y b ¢ 20 N yF/AF 1E 1,478
171 [HT 1E7K#&2=4Y )y b ¢ 25 N vk AF 1E 2,216
172 [HT 1E7K#&R2=4Y )y b ¢ 30 N ykVAF 1E 3,390
173 [HI 1E7K#&2=4Y )y b ¢ 40 N y¥/AF 1E 5, 157
174 [PA=#0y b (PLEIKAR o b) | ¢ 13 N vFU AT 1E 1,521
175 [PA=#0y b (PLEIKAR o b) | 20 N vE/AS 1E 2, 159
176 [PA=40y b (PLEIKARI o b) | ¢ 25 N vF/ AT 1E 2,912
177 [PA=40y b (PLEIKARI o b) | ¢ 30 N vF/ A 1E 5, 882
178 [PA=4#0y b (PLEIKARI o b) | 40 N vE/AS 1E 7,968
179 [PA=#0y b (PLEIKARI 9 b) | ¢ 5O N vF/ A 1E 11,981
180 [G1EAKAR2=4 )y b ¢ 50 i 8, 620
181 [GY)ry b ¢ 50 1E 2, 144
182 |P Ik KARTVE 613 N yRUAf 1 2,014
183 [P1E /KT VR $ 20 N v¥/AF & 2,926
184 [P1E/KKETVE ¢ 25 N y¥/AT & 4,027
185 |P Ik /KARTIVE ¢ 30 N yRUAF 1 8, 098
186 |P1E /KT VE $ 40 N y¥/AF & 10, 691
187 [P1E KT VE ¢ 50 N y¥/AF & 15, 066
188 [Py} ¢ 13 1E 1,637
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KEA—H—BEZEEE (LE)
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189 |PVry b ¢ 20 1E 2,376
190 |PVry b ¢ 25 1E 3,013
191 |PVry b ¢ 30 1E 5,983
192 |PVry b ¢ 40 1E 8, 026
193 [PV b ¢ 50 18 11, 561
194 [PV b $20X ¢ 13 1 2,072
195 [PV} 25X ¢ 13 1 2,521
196 |Pzik” ¢ 13 ] 1,883
197 |Pzik ¢ 20 ] 2,724
198 |PTvik” ¢ 25 1# 3, 882
199 |PTvE” ¢ 30 1# 7,142
200 |PzVK” ¢ 40 1# 9,474
201 |PzVK ¢ 50 1# 14, 487
202 |PL2=AY )y b o 13 1E 2, 564
203 |PLa=Av )y b ¢ 20 & 3,825
204 |PLa=Av )y b ¢ 25 & 5,027
205 |PLa=Av )y b ¢ 30 1E 6, 954
206 |PLa=Av )y b ¢ 40 & 9, 156
207 [PVazty )k b ¢ 13 & 1, 898
208 [PVazty )y | ¢ 20 1E 2, 796
209 [PVa=ty )k b ¢ 25 & 3,911
210 [PVa=ty )by b ¢ 30 & 6, 360
211 [PVazty)hy b ¢ 40 1E 8, 736
212 | A=pdfEa=Ay by b ¢ 13 i 3,998
213 | A—pAdfiEa=Ay by b ¢ 20 i 6, 751
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KEA—5—RBAFEH CLED)

&5 mooRl otk ik HEfz|
214 | F=HfEa=t )y b ¢ 25 1E 9, 735
215 | A= g2zt )y b ¢ 30 1E 19, 123
216 |A=pffifEa=gy )y b ¢ 40 & | 29,843
217 |HI A=Fa=47)hy} ¢ 13 N yFAS 1E 939
218 |HI A=fa=4/)hy} ¢ 20 N yF/AS 1E 1, 550
219 |HI A=Fa=47)hy} ¢ 25 N RS 1E 2,130
220 |HI A=fa=47)hy} ¢ 30 N yF/ASF 1E 3,419
221 |HI A=Fa=47)hy} G40 N RS 1E 5,027
222 |Wr/k#Rav 613 fi# 533
223 |Wr/k#Rav ® 20 fi# 765
224 |Wr/k#Rav b 25 fi# 811
225 |Wr/k#Rav ® 30 fi# 2,318
226 |Wr/k#sav ® 40 fi# 2,781
227 |Wr/k#sav ® 50 fi# 3, 245
228 [MIEIEAKE B 30 913 &2 <k 1 1,970
229 |HIB LK B -0 $20 VEEa v 18 2,999
230 |HIEkAe B8 320 [¢26 &2 v i 3,767
231 | IE AR B v vl ¢ 13 7R & a7 v 1 1,999
232 | IEAR B w920 ¥REaT v 18 2,941
233 | IEAR B w925 ¥EaT v 18 3,723
234 |TS Vo b 613 i 40
235 |TS Vv b ¢ 20 i 52
236 [TS Vryb ¢ 25 i 7
237 |TS My b ¢ 30 18 101
238 |TS Jry b ¢ 40 & 177
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KEA—H—BEZEEE (LE)
&5 T ki HEfz|
239 |TS VK 613 ] 40
240 |TS VK $ 20 ] 68
241 |TS VK ¢ 25 ] 97
242 |TS Ty ¢ 30 1# 133
243 |TS Ty ¢ 40 1# 236
244 |TS F=1" 613 ] 49
245 |TS F=A" $20X ¢ 13 1 96
246 |TS F=1" $ 20 ] 96
247 |TS F=A" $ 25X ¢ 13 1 148
248 TS F-2~ $ 25X ¢ 20 1 148
249 (TS F-2° ¢ 25 ] 148
250 [TS -2~ ¢ 30X ¢ 13 1 194
251 |TS F-x $ 30X ¢ 20 1 194
252 |TS F-1 ¢ 30X ¢ 25 1 194
253 [TS F-2° ¢ 30 ] 194
254 |TS F-1 $ 40X ¢ 13 1 280
255 |TS F-1 d 40X ¢ 20 1 280
256 |TS F=A° $ 40X ¢ 25 1 280
257 |TS F-1 $ 40X ¢ 30 1 280
258 [TS -2 ¢ 40 ] 336
259 |TS Jry b 20X ¢ 13 1 52
260 |TS Jry b 25X ¢ 13 1 77
261 |TS Jry b $ 25X ¢ 20 1 77
262 (TS *vy7 ¢ 13 ] 40
263 [TS *+y7 ¢ 20 ] 49
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KiEA—5—MBREEH (LE)
& o Tk b HEfz|
264 (TS *+y7° ¢ 25 & 59
265 [TS F+y7° ¢ 30 & 77
266 |TS *yy7° ¢ 40 & 130
267 [TSa=4v)ry b ¢ 13 18 43
268 [TSa=4v )y h ¢ 20 18 56
269 [TSa=4v)ry b ¢ 25 18 88
270 |TSa=#v )y b ¢ 30 & 122
271 TSa=4v )y b ¢ 40 18 177
272 |av 613 ] 324
273 |av ¢ 20 ] 553
274 |av ¢ 25 ] 936
275 |a% ¢ 30 1# 1,623
276 |av ¢ 40 1# 2,521
277 |1k KEER 972 A VU BV - E T 1 19, 992
278 |1k kHek v/2 B VU BV —JEMCE T 1 14, 023
279 | IE7K#REK 9JA C FC ¢ 120 | 6, 954
280 | A=K oA BRI AT FRP ¢ 13 1E 3, 940
281 |A=4K oA BRI AT FRP ¢ 20 1E 7,504
282 |4 yIA BRI AT FRP ¢ 25 1E 9,851
283 |4 yIA BRI AT FRP ¢ 30~40 & | 47,517
284 A=K oA BRI A Te FC ¢ 13H (ZFCD) 1 14, 139
285 |}=h" oA BRI T FC ¢ 20~ ¢ 25/ (F5FCD) | A 24,773
286 | A=K yIA BRI AT FC ¢ 30~ ¢ 40 (¥5FCD) 1 70, 841
287 |TSN V7™ Iy b 613 18 43
288 |TSN V7™ Vb ¢ 20 18 49
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KEA—5—RBAFEH CLED)

&5 T ki HEfz|
289 |TSA" W7 My b ¢ 25 1E 68
290 | & W Ik KA {1 & 13 N vEVAf 1E 6, 983
291 | =W Ik kAR {1 ¢ 20 N R AL 1E 11,111
292 |k =1k KA fd e $ 25 N ¥ /AT & 15, 211
293 | K" =W Ik KA (e 1 ¢ 30 N yF/AL &l | 32,016
294 | K —W Ik KA (e 1 ¢ 40 N yF AL &l | 43,895
295 | F=p{eiE) o b b 13 N yF/AT 1 1,709
296 | F-p{eRifE ) o b ¢ 20 N RS i 2,970
297 | F=pAeiE )y b 20X ¢ 13 N y¥UASF i 2,970
298 | F=p{eifE) o b b 25 N ¥ AT 1 4,143
299 [ F-p{eifE) o b ¢ 30 N RS i 7,997
300 [F=p{eifE )y b b 40 N yF AT 1 9, 895
301 (7709 57z o 75 =1 (7. 5k) & 6, 461
302 [7709 5tz ¢ 100 JE=1 (7. 5k) & 8, 286
303 (7709 5tz ¢ 150 JE=1 (7. 5k) & 11, 720
304 |NAE My b (BRAEHAEAS) [M16X 75 %N 203
305 | A VI b (BRALABRAT) [M16 X 65 N 176
306 | EAK77/9 ¢ 50 18 20, 716
307 |}=57779° 50 ikt 1 20, 571
308 |t~ 2 7 ¢ 13 & 927
309 |t~ 2 7 ¢ 20 & 1,173
30 (AR~ Z 7 ¢ 25 & 1, 622
311 |A=F==7" MEfi K BERe i 11, 300
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